Writing Equation of Quadratics
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Given the following information find the equation in the correct form:
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1. Vertex at (3,-2) & point on the graph at (2,3) VF
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2. Vertex at (-4,-24) & a point at (-5,-25) SF

3. Vertex at (-2,3) & y-intercept of -1 SF
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4. The diagram shows the path of a model rocket launched from the ground. It reaches a maximum altitude of
384 ft, 16 seconds after launching and hits the ground after 32 seconds. What quadratic function models the

height of the rocket? Hint: draw a picture A X*
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